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The lines in the diagram are straight.

(a)

(b)

(©)

v
g
=

A"s
WV

Mark with arrows, (>>), a pair of parallel lines.

(1)
Mark with the letter R, a right angle.

1
What type of angle is shown by the letter
@ x ARG e
a » ediex....

(2)

(Total 4 marks)
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2. The shape is made from a right-angled triangle, a parallelogram and a
quadrilateral.

N
7 7

(a) Mark with arrows (») a pair of paralle] lines.

1)
(b) Mark with the letter 4 an acute angle.

(1)
(¢) Mark with the letter R a reflex angle.

)
(d) Measure the size of angle x.

........... D&
(D

(Total 4 marks)
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o

b

One of the four angles marked in the diagrams above is an obtuse angle.

- (a) Write down the letter of the diagram in which the obtuse angle is

marked.

X 50°

(b) Work out the size of the angle marked x°.

----------------------

(1)
Diagram NOT
accurately drawn
RSN Yo NN °
)

(Total 3 marks)
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(@) Write down the special name for this type of angle.

..... XCsak g,
ey
(b) Write down the special name for this type of angle.
(1)
(c)
Diagram NOT
l accurately drawn
This diagram is wrong.
Explain why
AN, . @@ S 2 AN Do o,
PN W=\ SR 3. e o = S < & YOO
(1)

(Total 3 marks)
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5. Here is a diagram drawn on a square grid.

A/O "7

Vt

(a) Mark, with arrows (>>), a pair of parallel lines.

1)
(b) Mark, with the letter A, an acute angle.

(1)
(¢) Mark, with the letter O, an obtuse angle.

1)

(Total 3 marks)
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The diagram shows two sides of a rhombus drawn on a grid of centimetre
squates.

)

e e

~ [

(a) (i) Measure the size of the angle between these two sides.

........ 2
(if) What type of angle have you measured?

--------------------

2)

(b) Complete accurately the drawing of the rhombus.

(1)
(Total 3 marks)
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7. The diagram shows an angle.

(a) Write down the special name for this type of angle.

........ FCAEE
1)
(b) Measure the size of the angle,
............... 2\l
@)
(Total 2 marks)
8.
X
»
(a) Measure the size of the angle marked x.
......... [L2.Q...0
1)
(b) What type of angle is shown by the letter y ¢
B et P
1)

(Total 2 marks)
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Diagram NOT
accurately drawn

IJ
PQ is a straight line.

(@) Work out the size of the angle marked x°.

(1)
(b) (i) Work out the size of the angle marked »°.
......... 122
(i) Give reasons for your answer.
Lol od dne baae o). an. 1sesceles diase\e

VL LCQUAY. e
3
(4 marks)

120¢ 140°

)

Diagram NOT accurately drawn

Work out the size of the angle a.

........................................

(2 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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Diagram NOT accurately drawn
In the diagram, ABC is a triangle.
ACD is a straight lipe.
Angle CAB = 50°.
Angle ABC = 60°,

Work out the size of the angle marked x.

(2 marks)

1)

@

Q ’\2’3 230 R

Diagram NOT accurately drawn
POR is an isosceles triangle.

PO =PR.
Angle R =123°,

Work out the value of x.

) 3
L/' (2 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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S’Q

f) 6 O T0°
I C

Diagram NOT accurately drawn
ABC is a triangle.

Work out the size of the angle marked p.

p= 610 ..... °

(2 marks)

‘IJ
Diagram NOT accurately drawn

POR is a straight line.

SQ = SR.
(i)  Work out the size of the angle marked x°
..... L3 G
(i)  Give reasons for your answer.
...... Gmﬁ.\.@a.....mm\......./.\m.n.....w.‘..s,@..‘..@.\ﬁ....m.n........'1.&.::;..Sfﬁ,¢_u»s
4"”\’0\/‘31,& ...... Qatianen, ‘Q.q..m«—.o:-g.............ﬁmg.].ﬁ./.)....c;.m.....c.‘z.h......&‘l':rﬁvi'J L1
ine oo i do \&EOT ' (3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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7.
Diagram NO'T accurately drawn
{a) Work out the value of x,
=020
(1)
(by  Work out the value of y.
O Ry
PE LT
2
(3 marks)
8.
Diagram NOT

B C

Triangle ABC is isosceles, witli AC = BC.

Angle ACD = 62",
BCD is a straight line.

Work out the size of angle x.

accurately drawn

(2 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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9,
Diagram NOT accurately drawn
POR is a straight line,
PO=0S=0R
Angle SPQO =25°.
(8 () Write down the size of angle w,
(i) Work out the size of angle x.
............... 120
2)
(b) Work out the size of angle y. 6
@
(4 marks)
10.

5\

Diagram NOT
accurately drawn

Work cut the value of x.

(3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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11.

Diagram NOT
accurately drawn

A

ABD is a triangle. ABC is a straight line.
Angle ABD =70°,
AD=BD.

(@ () Work out the value of x,

(ii) Give a reason for your answer.

(b) (i Workout the value of y.

P = T
(ii)  Give a reason for your answer,
O\}ﬂ?jfﬂf&a+/makﬁf0£mkaﬂn\mmﬂ?ﬂ‘ﬁwf’w

)

&)

(5 marks)

12. '

Diagram NOT
accurately drawn

Work out the value of a,

ad= ... f.Q?.‘7 .......

(3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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13.

30(

C

Diagram NOT accurately drawn

In the diagram, ABC is a straight line and BD = CD,

{a) Work out the size of angle x.

2.0
............ Yo s et T b rere

@)

{(b) Work out the size of angle y.

.............. ES..o

&)
(5 marks}

For more help, please visit our website www.exampaperspractice.co.uk
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B
A - ¢
\ w7
o Diagram NO'E
accurately deawn
D =

ABC and DEF are paralle! lines.
BEG is a straight line.
Angle GEF = 47°,

Work out the size of the dingle marked x.

Give reasons for your i'lllSWelli'.

CK:’)E - C{,7D Coyf@Sfﬂ:{)no/,rij Q,f:j £ ) o€ éix? L/L-’-L,()

Je - /3 - }Qr:j/,&v G~ € \S’f‘w{—em"j Lt / L~

ool e Ao | FO°

----------------------------------------------

(3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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Diagram NOT
/\ accurately drawn
g > E
62°
/ T
DE is parallel to FG.

(i) Find the size of the angle marked »°.

........ Ot

(i} Give a reason for your answer.

)

For more help, please visit our website www.exampaperspractice.co.uk

(3 marks)
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A / > - B
C R D

Diagram NOT
accurately drawn

AQB, CRD and PQRS are straight lines.
AB is parallel to CD.,
Angle BOR = 113°,

(a) Work out the value of v,

N

(b) Give reasons for your answer,

Cpmpffﬁom?ffﬂgﬂmg/,m ...... QL. Ef/..m..aﬂ

..............................

@79/@40}7&??/?@;0/%//}72[&?’&/@ Lo 0"

...................
I

................................... [ L L T T R R PP L R R L P E P P T ]

(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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Diagram NOT
accurately drawn

(a) i) Find the value of x.

i) Give reasons for your answer.,

CC)YF@ [Pomdmﬁ OIA%/LQA A %M

ooooooooooooooooooooooooooooooooooooo

) )] Find the valuc of y.

-------------------------------------

i) Give reasdtis for your answer.

ar\@ﬂM ol A g'hw(\g\zﬁ ]lnE adcﬁ UK H6 l(?O

.....................................

CO’Y(QBPOAOHV‘j MjLﬂA a2 ‘(’/‘IVLQ.J(

{0 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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*S.

Diagram NOT
accuradely drawn

ABCD is a parallelogram.

Angle ADB = 38°,
Angle BEC =41°,
Angle DAB = 120°,

Calculate the size of angle x.
You must give reasons for your answer.

L (FO")
ﬁgp - 220 (ﬂrl:-)lfé’.(‘ 9 o r}"-“;{:«{/\j/’e o\_a(()( c..//ﬂ ’/

ot 67 MJ)

(o]

B.DC - 2Z (ﬁﬂj,&n cﬁj—e z;\/bo},.eo

wdd vy Ao
IS0 )

; T I A PV

2= 197 (Aegle o o Adrmenge edelop [40%)

—

P———

(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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i

Diagram NOT
gecurately drawn

-

C 1 | B 3

CDLEF is a straight line.
AB is parallel to CF.
DE = AFE,

Work out the size of the angle marked x.
You must give reasons for yolir answer,

AeD - 38°  ftemade angler are egued

- Ny - 0 Lase o} I3 oscelen
¢ d DAL T ) A’j//% ot
ﬁ 7 ” [ ore f/?uwj)

- - /0 Vi ) (l/}\’j}M an e S—)—TofﬁLmL /e mg//

— Lo /5’”0”)

v

(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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.

Dingram NOT
accurately drmwn

ABC and DEFG are parallel.
AEH and BFH are straight lines.
Work out the size of the angle marked x°.

675}/ - .2&’0 Oﬂ&ﬂoﬂf sz/“ ot 6)7M;L/
Crﬁ/’f :5-3& Q/MWJ—B o'/g’/a’*’ are Q?o&j

//5(’:/// A Ay a/y}g,()w ot @ j‘(}vaf;“jﬁ,% line oodd
o 1 SO

0 QS a"‘y/’?A ‘n A /LYFAHJ le ot & Lo /dﬂfd

(3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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1.  Each exterior angle of a regular polygon is 30°.

Work out the number of sides of the polygon.

3_6(1211
30

(2 marks)
2.
Diagram NOT
accurately drawn
Work out the size of an exterior angle of a regular pentagon.
360
(2 marks)
3.

Diagram NOT
accurately drawn

Calculate the size of the exterior angle of a regular hexagon.

360

G
......... Q...

(2 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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The size of each exterior angle of a regular polygon is 40°.
Work out the number of sides of the regular polygon.

260

—————

40 N

(2 marks)
The size of each interior angle of a regular polygon is 156°.
Work out the number of sides of the polygon.
Ext ongle = 1go - 156
> 24
3 -5 ‘ 5 ..............
+r (3 marks)

Here is a regular polygon with 9 sides.

Diagram NOT accurately drawn

Work out the size of an exterior angle.

—
— —

1

(2 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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Diagram NOT accurately drawn of.

220745

(a) Work out the size of each interior angle of a regular octagon.

(r)-;z) <) FO

Lgﬂ?.) ~ 1 &0 135
6 x1%¥0_ 77 = 5 .... o— .
10%0 =% @)

The size of each exterior angle of a regular polygon is 30°

(b) Work out the number of sides of the polygon.

360

———

230

(2)
(5 marks)

Diagram NOT accurately drawn
The diagram shows part of a regular 10-sided polygon.

Work out the size of the angle marked x.

ext oqgle = 360 =36
10

180 - 36 = 144

(3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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. / \ Dhagram NOT

accurately drawn

——f(“—é\ /’/
3 \H“m -

The diagram shows a regular hexagon and a regular octagon.

Calculate the size of the angle marked x.
You must show all your working.

o S6es
30, 3o
6

GD-(- L"g

(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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10.

\ / Diagram NOT
\ accurately drawn

\ —

o !
J ob s °

The diagram shows a square and 4 regular pentagons.

Work out the size of the angle marked x.

360 —10% —\tog —GO

Y

(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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ABCDE and EHJKL are regular pentagons.
AEL is an equilateral triangle.

Work out the size of angle DEH.

3éb — 10% — (08 — 60

Diagram NOT
accurately drawn

(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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12.  The diagram shows part of a pattern made from tiles.

Diagram NOT

accurately drawn

Tile A

The pattern is made from two types of tiles, tile A and tile B.
Both tile A and tile B are regular polygons.

Work out the number of sides tile A has.

260 - 60 T 300

(o]
interior ovgle = g"’zﬁ = IS0

ecterior cagle= 180 - 1950 = 30

3¢0 -2
Y=}

(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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N Diagramy NOT
accurately drawn

A
40° !
B
Work out the bearing of B from 4,
......... A2 e
(2 marks)
2 N
A
A
60°
14Q°
P
B
(a) Write down the bearing of 4 from P.
880 e
(b) Woik out the bearing of B from P.
N

(3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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North
A

0y

(a) Measure and write down the bearing of B from A.

..... PR

1)
(b) On the diagram, draw a line on a bearing of 107° from A.
1)
(2 marks)
4. The diagram shows the position of two ports £ and Q on a map.
N
) ’/
Q ‘i
N
\\\
P
(a) Measure the bearing of O from P, ‘_
B
\-\{_ ......... OL[‘? ............. °
& (1)
A rock R is on a bearing of 150° from Q.

On the map R is 6 cm from Q.

(b) Mark the position of R with a cross (x) and label it R.
@)
(3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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5. The diagram shows the position of a lighthouse L and a harbour H.

N
F 3
N A
F 3 }/
4
[ ><""-~.._ _ //‘
._‘_HH.‘-%
___“__3
H

The scale of the diagram is 1 cm represents S km.

(a) Work out the real distance between L and H.

6.8 X5

(1)
(b) Measure the bearing of H from L. (Betwee N 3 3 an d 3 5)

1.0 °
..........................................

)
A boat B is 20 km from H on a bearing of 040°
(c) On the diagram, mark the position of boat B with a cross (x),
Label it B.

(2)

(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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6. The diagram shows the positions of two villages, Beckhampton (B) and West Kennett (J¥).

¥ P

Scale: 4 cm represents | km.

(a} Work out the real distance, in km, of Beckhampton from West Kennett,

T 6 cm

.............. ;ZL{’ km

2)
The village, Avebury (4), is on a bearing of 038° from Beckhampton.
On the diagram, 4 is 6 cm from B,
(b) On the diagram, mark A4 with a cross (x).
Label the cross 4.
)
(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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7. The diagram shows the position of two boats, P and Q.

Z

b
. o

=
b

. ./"'

e
5

The bearing of a boat R from boat P is 060"
The bearing of boat R from boat 0 is 310°

In the space above, draw an accurate diagram to show the position of boat R.
Mark the position of boat R with a cross (x). Label it R.
(3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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8.  The diagram shows the positions of two telephone masts, 4 and B, on a map.

N
A
N
3
< B
A>
*C
(a) Measure the bearing of B from A, O 5 9
1
Another mast C is on a bearing of 160° from B.
On the map, C is 4 cm from B.
(b) Mark the position of C with a cross (x} and labetl it C,
(2)

(3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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9. The bearing of a ship from a lighthouse is 050°

Work out the bearing of the lighthouse from the ship.
A

---------------------------------------------

(2 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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